MOUNTING GUIDANCE
Product Name: Xenia dining table @90 / @120
Product ID Nr: HB108005E / HB1028006E

- Web: https://www.helland.no/
- Mail: helland@helland.no
- Phone:+47 70 27 90 00

- Helland Mdbler AS / PO Box 10 / NO-6529 / Stordal / Norway

HELLAND’

Furniture that cares

ASSEMBLE THE TABLE IN 4 STEPS

pg-1



LIST OF FITTINGS
Product Name: Xenia dining table @90 / @120
Product ID Nr: HB108005E / HB1028006E

® ® & @

® ® @ ®

8 ;
(9) (10 (11

- Web: https://www.helland.no/

- Mail: helland@helland.no

- Phone:+47 70 27 90 00

- Helland Mdbler AS / PO Box 10 / NO-6529 / Stordal / Norway

HELLAND’

Furniture that cares

Name

Minifix bolt (B34/5/11mm)

Minifix @15mm, 23mm

Threaded bolt M8x160, Zn

Star washer, M10, DIN6798, Zn

Sleeve nut M8x20x10x16, yZn

Threaded bush M8, Zn

Hexagon Nut M8, DIN439, Zn

Leveler M8x22

Cross bracket

Flat head screw @3.5x35, Zn

Dowel @10x40mm

mOﬁP‘bthMMhbg

pg-2




LIST OF WOODEN PARTS
Product Name: Xenia dining table @90 / @120
Product ID Nr: HB108005E / HB1028006E

- Web: https://www.helland.no/

- Mail: helland@helland.no

- Phone:+47 70 27 90 00

- Helland Mdbler AS / PO Box 10 / NO-6529 / Stordal / Norway

HELLAND’

Furniture that cares

Name Qty
Table top @90 or @120 1
Column leg(pre-assembled) 1
Column leg({add-on) 2
pg-3




CONMNECTING ADD-ON LEGS TO PRE-ASSEMBLED LEG
Product Name: Xenia dining table @90 / @120 .
Product ID Nr: HB108005E / HB1028006E HELLAND

Furriture thal cares

LIST OF FITTINGS AND MOUNTING TOOLS

id-11[4pcs] dowel

The hammer is not included
in the shipment package

OP DESCRIPTION
1) INSTALL DOWELS(ID-11/4PCS) TO THE ADD-ON LEGS (ID-15/2PCS)

Choose the appropriate impact force if you use
hammer to install wooden dowels, Otherwise
- Web: https:/iwww.helland.no/ o h it .
- Mail: helland@helland.no you can damage the part or break it instead
- Phone:+47 70 27 90 00

- Helland Mabler AS / PO Box 10 / NO-6529 / Stordal / Norway pg-4



CONNECTING ADD-ON LEGS TO PRE-ASSEMBLED LEG

Product Name: Xenia dining table @90 / @120

Product ID Nr: HE108005E / HB108006E

OP-3

- Web: https://www.helland.no/
- Mail: helland@helland.no
- Phone:+47 70 27 90 00

- Helland Mdbler AS / PO Box 10 / NO-6529 / Stordal / Norway

oP-2

OP-3

HELLAND

Furriture thal cares

OoP DESCRIPTION
2) ATTACH/PRESS ADD-ON LEGS TO LEG FRAME
3) GENTLY TURN FRAME UPSIDE DOWN

pg-5



CONNECTING ADD-ON LEGS TO PRE-ASSEMBLED LEG

Product Name: Xenia dining table @90/ @120 .
Product ID Nr: HE108005E / HB108006E HELLAND
Furmiture thal cares
OP 4/5 — 1@( ,, \,_,—f“”"
i LIST OF FITTINGS AND MOUNTING TOOLS
.y id-4[2pcs)
:g.oi[; Ft;cr:!:ket star washer M10
id-10[8pcs]
screw 3.5x35mm id-3[1pcs]
threaded bolt M8

, hex key 5mm
included in package

"
e drive drill with PZ2 bit
i not included in package
|

oP DESCRIPTION
4) INSERT THREADED BOLTI[id-3] IN TO THE LEG
5) SCREW SLEEVE NUTS][id-5] WITH STAR WASHERS]id-4] TO BOLT BY HAND
6) PLACE CROSS BRACKET[id-9] ON THE LEG FRAME
7) MAKE SURE ADD-ON LEGS ARE IN TOUCH OF PRE-ASSEMBLED LEG

AND THEN SCREW IN ALL SCREWS][id-10]
8) TIGHTEN SLEEVE NUTS][id-5]

- Web: https://www.helland.no/ Be careful when using the drive-drill to tighten the screws/bolts.
- Mail: helland@helland.no Select thge appropriate rotation strenght.

- Phone:+47 70 27 90 00

- Helland Mobler AS / PO Box 10 / NO-6529 / Stordal / Norway pg-6



CONMNECTING LEG FRAME TO TABLETOP
Product Name: Xenia dining table @90 / @120
Product ID Nr: HB108005E / HB1028006E

LIST OF FITTINGS AND MOUNTING TOOLS

id-11[4pcs] id-2[4pcs]
dowel 10X40mm minifix housing
id-1[4pes)

minifix bolt

4
/? PZ2 bit screwdriver

OP DESCRIPTION

9) PLACE TABLE TOP[ID-13] ON THE WORK SURFACE WITH FACE DOWN
10) SCREW MINIFIX BOLTS[ID-1] INTO THE TABLETOP

11) INSTALL DOWELS[ID-12] INTO THE LEGS

12) PLACE MINIFIX[ID-2] INTO LEGS(ARROW ON MINIFIX POINTING
TOWARDS THE TABLETOP)

13) PLACE LEG FRAME ON TOP OF THE TABLE TOP AND

TIGHTEN ALL 4 MINIFIX CONNECTORS

pg-7



